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PGF 5005 - Mecanica Classica

Prof. Iberé L. Caldas

N/

Respostas - Primeira Lista de Exercicios

1.
(a)
L= %[(vo + at)(vy + at + 2160 cos 0) + 126%] + mgl cos 0
2
H= % + (vo + at) [% ((vo +at)cos® — 1) — ?cos@} — mgl cos 6
(b)
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(c)
6, = tan~! (a)
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5.

Usando uma funcao geratriz do tipo,

F(qi,p2, P, P2) = F1 + qap2 — Q1P1 — Q2P

encontra-se

F = qi(Py + 2p2) + Paps

8.
(b)
T w2 ]
——+ —=t, 2T <t< (2n+1)T
2av2mE 2 4ma?
I:w, 0= onde T'=2a/vy e n=0,1,...
T O
—— —7t, (2 DT <t 2 2)T
5 " Imgzh G+ DT <t<(2n+2)
(d)
2 272
I — D , g_ T 1
2m 8ma?
(e)
v
oL 20T <t < (2n+ 1T
9 a
xz—aﬁ, p= onde T =2a/vyg e n=0,1,...
T
—211, @n+ 1T <t < (2n+2)T
a
11.
(a)
0:(t) = 6% + (1 —2I? — 3I9)t, 05(t) = 65 + (1 — 31V + 219\t



